kankaH YT XV15,16

kankaH YW XV1s5.16

=
4 6p. Benocunep
(BepTukanHo
napkupaxe)

<011 1 |

= e S

NnPOXo[a

EjEs
I
I

=,
Il

=]

==
_ Iy
=""3=

Il
= =
Il

364

=T

==

25
—
| —

NAPTEP

3acTpoeHa nnow, — 172.11m?2
8 cknapa

4 napkomMecTa

0 1 2
MA LLIA 6|

METPU

cknag 8 =—- | 1 2L,
v ckna ckna,
2 3.38mM2 +0.00 = 545.30 A A I'IHATCDOFJILI A 3A
243 7 3.10m 3.06m B
]: 1 2 ® NMoa3EMHO
= —_— = NAPKWPAHE
\ g 131/ 12, 90 |2 23 ||25 P 6
o TR B o~
T S| 06w cknag ®oaite - 14.62m2 . Kopuaop ;T
5.13m2 \ 6.33m? P
=" g8 - rT
25 230 5 180 * 250 0 cknan = <]
N cknapg 7 T
30 2.50m? ~ | ==
- & 2.18m? | - DR
kankaH YT XVll1g = = e = o = = |=l+
o yﬁ, 5 18 Ty — 123 - — |= :::
—E E Tt == 1 [[cknap 4 == =
= \\\ 2.62m2 = 6p. Berocynén
E cknan-6 %ﬁ_ —7/ 1|(BepTUKAOHO_ ||,
> 2 - a napkvpaHe)
T LaxTa 3a \ 3.05m © 1 CKrnan 5 E = = == u—‘t—giﬁ—ﬂ_ﬁ—:t—’ffiiukj
© ocBeT/ieHne +1.32 CcTbnbuLle - & S 3.01Mm2 —— = oo — — ,:] (j J:HE
= 171w {Pi 8.43m2 ~g  9.VIM IR = ===3 =l==F
®© ' | 225 || 1 6p. Benocunen |_ ) [
. —]

kankaH YT XVlls

kankaH YT XVll1s

G GENIG oo APXUHUTEKTYPHO CTYAMO @

MPOEKT
DPA3A

AATA 12.2017

HHMNMWHA CIrPAAOA
TEXHMUECKHW MPOEKT



